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1.3 (672) 63, 65, 67, 74
Read 1.46681-82)- The log pga
64 (883) 5 ,7,9,13,18,20,21,23,25 lis sint
Read 1.5 (₂87-91)
y lime sinto lim SintX )-(118=1
3 lim max (1 st)

- limo (siat X -cost))=(1)(6)=0

67 bin sinex - lin (sinx) sinx)=(0)()=0-
limotasto
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limbo (sin ax )(sin 3x)
lim no (sin 2x)( x )
limyo(2sinzx)(3x )
(2(1))( est)
(? )( 367) =3/5
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(a) lime f(x)=3 (b)lin f(x)=3 (c)lim f(x)=3

A continuanoauto on o,on)

(aslimentf(x)=0 (b)lime f(x)=0 (c)lime f(x)=0
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c =3
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12,3) ca lim f(x)=-3 (b) lin f(x)=3

- 12,-3) . (c) lim f(x) DNE , f isNOT cont.
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B limot Ito - limon X 10 =1
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2x + 7
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- 212=2+ ,x <3



cat x = lim cost
(25 lim X I sin

lim cos = 6
xxt Siur - DNE
: DNB
lim cot x DNE


